ORDER #000823



DIANE GARBER EVENTS

Due Date: Upon Receipt

Order Date: January 15, 2021

PO: Shipping Address: GARDEN OF PARADISE 32222 Agua Dulce Canyon Rd, Santa Clarita, CA 91390

EVENT DATE: MARCH 3RD, 2021

**PICK UP MTB EVENTS (400) WINE

GLASSES**

INSTALL: MARCH 2ND, 2021

PICK UP: TIME TBD

Description		Qtty	Price		Total
General					
	PATIO MUSHROOM TOP HEATERS PENDING CONFIRMATION	1	\$85.00	Т	\$85.00
	PROPANE TANKS PENDING CONFIRMATION	1	\$25.00	Т	\$25.00
			Total General		\$110.00
BEDEKIN AREA					
	STAGE 12 X 12 X 16"	1	\$225.00	Т	\$225.00
	STAGE TO BE COVERED IN WHITE CARPET	1	\$330.00	Т	\$330.00
	WHITE SOPHIA CHAIRS	4	\$22.00	Т	\$88.00
	WHITE CURVED 6FT SOFA	1	\$150.00	Т	\$150.00
	GLASS BOWL WITH "T" LIGHTS	40	\$4.50	Т	\$180.00
	WHITE VELVET PIPE AND DRAPE AROUND PERIMETER TO CREATE SPACE FOR BEDEKIN	1	\$3,000.00	Т	\$3,000.00
	LOW 36" ROUND TABLES	6	\$10.00	Т	\$60.00
	BLUSH LAMOURE 132" LINENS FOR 36" LOW TABLES	6	\$25.00	Т	\$150.00
	30" HIGH COCKTAIL TABLE SANITIZE STATION	1	\$10.00	T	\$10.00
	WHITE LAMOURE 132" LINENS WITH MARTINI TIES	1	\$25.00	T	\$25.00
	BLUSH SHANTUNG NAPKINS / WITH WHITE VELVET RIBBON TIES	46	\$2.00	Т	\$92.00
	FOR 36" ROUND TABLES , AND 30" ROUND TABLES				

Description		Qtty	Price		Total
	30" HIGH BOY COCKTAIL TABLES	8	\$10.00	T	\$80.00
	BLUSH LAMOURE 132" LINENS WITH MARTINI TIES	8	\$25.00	Т	\$200.00
			Total BEDEKIN AREA		\$4,590.00
COCKTAIL HOL	JR				
	WHITE LACQUER BAR, 6FT	1	\$50.00	Т	\$50.00
	CLEAR GHOST BARSTOOLS	8	\$22.00	Т	\$176.00
	36" LOW COCKTAIL TABLES	5	\$10.00	Т	\$50.00
	BLUSH SHANTUNG LINEN, 132" RND TIED MARTINI STYLE	5	\$25.00	Т	\$125.00
	WHITE CELINE LOUNGE SET 1- CELINE SOFA, 4- WHITE OTTOMANS, 1- ROSE GOLD LOG COFFEE TABLE	3	\$650.00	Т	\$1,950.00
	30" HIGH COCKTAIL TABLES	8	\$10.00	Т	\$80.00
	BLUSH SHANTUNG 132" LINENS WITH MARTINI TIES	8	\$25.00	Т	\$200.00
	8FT BANQUET TABLE SOUP STATION	1	\$12.00	Т	\$12.00
	WHITE LAMOURE 8FT LINENS FOR SOUP STATION	1	\$25.00	Т	\$25.00
	BLUSH LAMOURE NAPKINS / WITH WHITE VELVET RIBBON TIES	28	\$2.00	Т	\$56.00
		T	otal COCKTAIL HO	OUR	\$2,724.00
CEREMONY					
	BANQUET TABLE, 6FT FOR DJ	1	\$10.00	T	\$10.00
	LAMOURE LINEN, WHITE 6FT FOR DJ TABLE	1	\$25.00	Т	\$25.00
	STAGE 12 X 16 X 24"	1	\$400.00	Т	\$400.00
	STEP 8FT X 24FT COVERED IN WHITE CARPET	1	\$100.00	Т	\$100.00
	STAGE TO BE COVERED IN WHITE CARPET	1	\$450.00	Т	\$450.00
	WHITE CARPET RUNNER, 6' X 70'	1	\$850.00	Т	\$850.00
	CHROME STANCHIONS	12	\$12.00	Т	\$144.00
	BLACK VELVET ROPES	11	\$8.00	T	\$88.00

Description		Qtty	Price		Total
	30" LOW ROUND TABLE TO BE PLACED UNDER CHUPPAH	1	\$10.00	Т	\$10.00
	WHITE LAMOURE 120" LINEN FOR CHUPAH 30" LOW TABLE	1	\$25.00	Т	\$25.00
	WHITE VELVET PIPE AND DRAPE, 8FT X 8FT TO COVER GLASS DOOR	1	\$55.00	Т	\$55.00
			Total CEREMO	NY	\$2,157.00
RECEPTION (T	ENT BALLROOM)				
	MECHITZA (4) CLEAR COLUMNS WITH CRYSTAL CURTAIN INSIDE AND (3) SECTIONS OF WHITE PIPE AND DRAPE WITH LED UPLIGHTS	1	\$2,750.00	Т	\$2,750.00
	48" ROUND TABLES FOR SWEETHEART TABLE	1	\$10.00	Т	\$10.00
	WHITE LAMOURE 108" LINENS FOR SWEETHEART TABLE	1	\$25.00	Т	\$25.00
	ROSE GOLD WASHINGTON BAR	2	\$350.00	Т	\$700.00
	ROSE GOLD ARIEL BAR BACK	2	\$200.00	Т	\$400.00
	WHITE SERPENTINE TABLES WITH ROSEGOLD TULIP BASE 2 FAMILY TABLES FOR 25 GUEST	4	\$550.00	Т	\$2,200.00
	ROSE GOLD WILLOW TABLE WITH BLACK MIRROR TOP	2	\$275.00	Т	\$550.00
	WHITE SEQUIN 132" ROUND LINENS	8	\$45.00	Т	\$360.00
	ROSE GOLD SEQUIN 132" ROUND LINENS	8	\$45.00	Т	\$360.00
	WHITE LAMOURE NAPKINS	30	\$1.50	Т	\$45.00
	BLACK LAMOURE NAPKINS	230	\$1.50	Т	\$345.00
	BLACK SPONGE CHARGERS	210	\$4.50	Т	\$945.00
	ROSE GOLD WASHINGTON HIGH TOP COMMUNAL TABLES WITH BLACK MIRROR TOP	2	\$200.00	Т	\$400.00
	WHITE DANCE FLOOR 32FT ROUND	1	\$2,560.00	Т	\$2,560.00
	ROSE GOLD CUSTOM DECAL PLACED ON DANCE FLOOR	2	\$275.00	Т	\$550.00
	AMBER NAPOLEAN CHAIRS WITH BLACK COTTON CUSHIONS	200	\$10.50	Т	\$2,100.00
	DJ BOOTH, 6FT	1	\$100.00	Т	\$100.00
	Total F	I RECEPTION (TENT BALLROOM)		OM)	\$14,400.00
MENS TISH					
	8FT BANQUET TABLE	1	\$12.00	Т	\$12.00

Description		Qtty	Price		Total
	WHITE LAMOURE 8FT LINENS	1	\$25.00	Т	\$25.00
	6FT BANQUET TABLES	3	\$10.00	Т	\$30.00
	WHITE LAMOURE 6FT LINENS	3	\$25.00	Т	\$75.00
			Total MENS TISH		\$142.00
Services					
	TRUCKING FEE	1	\$550.00		\$550.00
	INSTALLATION FEE	1	\$2,500.00		\$2,500.00
	BREAKDOWN FEE	1	\$1,750.00		\$1,750.00
	PICK UP & RETURN MTB EVENT RENTALS (400) WINE GLASSES	1	\$175.00		\$175.00

Notes Total Products: \$24,123.00

Total Labor/Services/Misc: \$4,975.00

Taxes: \$2,291.69

Discounts: (\$0.00)

Total: \$31,389.69 Payments: (\$0.00)

Balance: \$31,389.69